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& 134 EA//CD ©]1 /BAE
(EAC & 1, AC 9] 329

D lcm @ 2cm ® 3cm

@ 4cm ® 5cm

EA //CD °]22 /EAC = /ACD (97}), /BAE = /ADC (%
A7), /BAE = (EAC ©]B22 /ACD = /ADC

oehA AACD & o 5RAZIEo|E2 AC = AD °|t}.

A AC 9] 4ol 4emeoltt.




the 179 474 ABC o4 AD £ /A 9] 0|58 Ao
T

1584
AC=6:5 o[tk 4719 ACD 9] Wel7h 12em? & uf, 447

A
(o] (o]
B D C
@ 14cm? @ %sz ® %cm2
@ 10cm? ® 22cm?
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BD

~&B

BD:DC=6:592=2 AABD : AADC=6:5
ABD:12=6:5

. AABD = %(cmz)




3. U 293} Zo] AABC OlA A 9] £]Zt9] o] 5243 BC 9] A%
Aol w¥E D 2 & o, AABC : AACD &7

AB: AC=BD: CDO/E28 : 5=(64+x): x

3x =30

. x=10

AABC, AACD = £0]7} Zome o] vz} Yol o] H]7}
2l=g

waba] e o] v 6 10 o] B2 Yo]o] v 3. 5 o]t}




th2 J9ollA AD // MN // BC 1 Atte] & ABCD oA & 3 M, N
2 7}7} AB, CD 9] 53 o uf, BC 2] Z4o|& a & AHgate] Yet
H? (&, MP: PN =1:2)

@ 3a @4a ® 5a @ 6a ® Ta

B

AM:AB=1:2°]2& QB = 24 °|t}.
MP:PN=1:29°]22 PN = 2q,
AD =PN = QC °]2= QC = 2q o|t}.

watA BC = BQ + QC = 2a + 2a = 4a ©|t}.
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o 28] BHAPEF ABCD oA a+b
o g7

@ 19cm @ 20cm ® 2lcm

@ 22cm ® 23cm

(DAF = (CEF (- 597}
(BAE = (CFE (= 97}
ACEF = o]|5H 4714 o] x]o] CE = CF, b = 8cm

-
ADAF & o|5H A7 o] El11, oABCD ©A] AB = DC ©]
oz
AD=DF=a=b+DC=8+3=1lcm
“a+b=11+8 = 19(cm)
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th& 1HolA oABCD = B 3APH o] 2AB
FD =DC = CE¥ 1, 0ABGH 2] Ed9] Zol&

F

A H,%D
Dl(
)
|
B G\%C

E

D 10 @12 ® 14 @ 16

® 18

~&B

AB =CD = DF

¢ABH = /HFD(%7})

/BAH = /HDF(%lZ})o]lB2

AABH = ADFH (ASA %5)

wHebA] AH = HD = 3]t}

u7k2]| 2 AABG = AECG oA BG = 30|22
DABGH = PSR o[t}

wepA] EH ] doji= 3 x4 = 120|t},




7. U5 1Y 0ABCD S oA'B'C'D’ O F W& AHE A ABO] 4
°l5 a = UEH?

D/

OABCD cooA’B’C’'D’O|E2 x:a=4:6
6x = 4a

2
SLX=—a

3
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t}-83} Zo] AB // EF // OD & o, BF | Zojx?

18-
I

AE:ED=2:50°|2&
BF:FD=2:5
BF:BD=2:7
BF:18=2:7




th2 284 HG = AABC 9 FAFA ]
th.AABC = 60cm?, DE//BC ¥ o], ADGE
o] Ylo|E otH?

@ 4cm? (@)501112 ® 6cm?

@ Tem? ® 8cm?

os)

Q

B

AEGC = éAABC = % x 60 = 10(cm?)

DG:GC=1:290]822
AEDG : AEGC=1:2,
AEDG :10=1:2,
- AEDG = 5(cm?)




10. the 97 Zo] TR0 eho] BT makel IR B Rl &

o7} Arto] HE=% 53t o1 4 e =2 2 737} 448cm?
o off, @A =] Fol= H em® A7

8cm

4cm
O 144cm? @)152cm?® @ 164cm?
@ 186cm? 3 224cm?

ohe %7 o] ABHE AYH, 0.0,02 A2t HuE

Uehditt L st

OA:0C=1:2,AB:BC=1:1°2& OA, OB, OC
E 47t 0= st B9 HEH=2:3: 4, B HE
8:27:640| 22

©:(©+©))=19:56

AN =9 H1E xem? =2t & of

x:448 =19 : 56




11.

o} WYAMF ABCD oA AM = DI,

B

A p
BM =CM¥ o, D2} 27]&?
@ 70° @ 80° @90°

' C
@ 100° ® 110°
AB = DC, AM = DM, BM CM o2&

AABM = ADCM(SSS&-%)
/A + /D =180°
(A = /Do|BE

AA:AD=180°X%:90°




12.

S I8 22 AAZE ABCD oA /B 9 o]5E A1 AD 7}
e A8 Egt g o, AE : ED=3:1, AABE 9] §o]& 72cm?
o|t}. o] wf, DEBCD 9] ¥ o|=?

A E D

B C
GD)HO(:m2 @ 128cm? ® 132cm?
@ 144cm? ® 160cm?

(EBC = /BEA(~ 97+
o2t A AABE = #Zto] 5 R4l
ED = a 2} 5} AE = 3¢0|B 2

_--3a-~_E D
/ ~as

ol
23
Dot
N
ofll
o,
L
L
jilleS
Ll
o
i)
N
N
o,

O,
\ o

B ~~_yq----°C

1
AABE:§x3ax3a=ga2=72

sa®>=16

_ 1 15 ,

DEBCD = - x (BC+ ED) x CD = 5(4a+a)><3a= S a

N | =

15
=5 X 16 = 120(cm?)
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13. o= J"3 Zol & H D& s#ok= F BAHE ABCD ¢ DEFG
oA /BAE = 50°, /CDE = 30° € ], /CGD = ( )° |t} () tof
Eold g2 & ot

A D
507\ 305 G
E
B o

O 60 @ 65 ® 70 @ 75 )80

B ~

ADEA €} ADGC A

DA =DC

DE = DG

/ADE = 90° - 30° = 60° , 2CDG = 90° — 30° = 60° | 2 &
ADEA = ADGC (SAS %)

/DAE = 90° — 50° = 40° ©]1 /ADE = 60° ©|2& /AED =
180° — 40° — 60° = 80° o]t}. WatA LCGD = 80° ©]t}.




14. o= J"”eIA BFD e 2717F 22 A7

A
D B
N
® /ADC ® (EBC ® /BAC
@) /BDC ® /ABE

/BFD = /CFE = 180° - (/FEC + /FCE) = 180° - (\DBC +
(DCB) = /BDC




15.

%Z—!O] 1 : 40000 c{l X]E —?—]Oﬂ/ﬂ 13’3017]- 5cm2
=7
D 0.5km? @ 0.6 km?

® 0.9km?

@0.8 km?

1 ol AAle] |ol

@ 0.7km?

B

2]) =1 : 40000,
o] 9] H]) = 1 : 1600000000
o] AA yol) = 5 x 1600000000

= 8000000000 (cm?)

=08 (km?)
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